
C Copyright 2014 CELETTE FRANCE SAS - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any
other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.

GAZELLE

00NA.3102 -RA3-103-12-1379-KG

NA.3102

REP REFERENCE DESIGNATION MASSE NB

1 9156.7002 POIGNEE 0.709 1

2 9156.7003 SUPPORT ROULETTE 10.077 2

3 9156.7004 PIED FIXE 5.801 1

4 9156.7005 AXE 2.549 1

5 9156.7006 BARRE DE RENFORT 4.873 1

6 9156.7007 RENFORT SUPPORT ROULETTE 0.428 1

7 9156.7012 APPUI SPHERIQUE DU RAIL NAJA 0.041 2

8 9156.7023 POUTRELLE AVANT 19.796 1

9 9156.7024 POUTRELLE ARRIERE 22.079 1

10 7108X06003Z VIS H M8-60 ZINGUEE 0.030 1

11 7110X02003Z VIS H M10-20 ZINGUEE 0.024 4

12 7112X02503Z VIS H M12-25 ZINGUEE 0.040 2

13 7112X05503Z VIS H M12-55 ZINGUEE 0.066 2

14 7112X07004 VIS H M12-70 0.080 1

15 7112X10003Z VIS H M12-100 ZINGUEE 0.106 2

16 7610X02003Z VIS CHC M10X20 ZINGUEE 0.025 1

17 7906X015 VIS MOLETE M6X15 (OTALU) 0.028 2

18 911203Z ECROU H M12 ZINGUEE 0.018 4

19 930803NY ECROU FREIN M8 0.016 1

20 931203NY ECROU FREIN M12 0.050 2

21 960848Z RONDELLE MU8 ZINGUEE 0.002 2

22 961048Z RONDELLE MU10 ZINGUEE 0.005 4

23 961248Z RONDELLE MU12 ZINGUEE 0.009 8

24 BOUCHON04 CAPUCHON NOIR PROTEGE ECROU HM8 0.001 2

25 E50RCE1220 BOUCHON PLASTIQUE CARRE 50X50 0.081 1

26 GA.1253205 GALET ROUE D.125 LARG.32 BANDAGE MOU 0.859 2

27 POIGNEE01 POIGNEE ERGONOMIQUE POUR TUBE D22 0.019 1

28 QU.0039 SAUTERELLE DE POUSSEE (SUPRATEC) 0.685 1

29 QU.0078 ECROU MOLETE PLAT M12 D40MM EXT 0.062 1

30 RPS.0504004 ROULETTE PIVOT. A OEIL D.50 LARG.40 0.532 1

31 VCT63PM12X60 VOLANT A LOBES M12X60 0.484 1

 1 

 2 

 3 

 4 

 5 

 6 

 7 

 11 

 20 

 22 

 23 

 25  26 

 27 

 28 

 30 

 31 

 24 

 10 

 12 

 13 

 14 

 15 

 16 

 18 
 19 

 21 

 17 

 29 

 8 
 9 


	Feuille 1
	Vues
	new_view_5



